Bt 3

il DA REMIA T %%

—. AT BB

TR R L BRI 3% B8 AR

=\ WAt

2025 4 3 A 15 H

1. B #E®: EF8: 30-10:00

2. BRAb R CEMFENRD « £ 10: 30-12: 00

=, Wik

LG ik o B AR IR

b, EBRAEI

WIFER., FiF. AFRTEESRS. BEEZESHFL
g, BERRFAEEEL

5 BOoWRESSE

Hir RERMl K RE IR B S NE S 5rER

BEBHR | 9ER[MR ERAR WNE | 9E | BofE
TiH 1: RN 0.8 200
FAb 4% BRI
REZEN | s (e o mune oF 250
I L 0.2 50
A7 E RO

7N BRHE

F—s RIEREXKR
(=) FXKRRHLHA

1. ®AERE TR

(1) FRAg&E: K, A%




(2) ZAFR: 90 7-4F

3 REecBZ2HABNEZRE, E—REEFTRES

B4
2. FREHH

(1 xFE, GrRsRLANERE (F2H8 ),

WA FH IR, 2023 £ 6 A

ALV

(2) (BEHFE#EZEN (FIBO ), 2EBIHEA KK

ZRBM MG L, IRIERE R, 2024 F

(=) FHAX

1. (GREREARERE) FHAZ

FAERE— AR R

FARESZ BRI PR EE
FARE=Z HEFHBRZEALMN
FARRET ARG E M ALX
FARREL RATHERFRFALN
FAREN BEEFRFALN
FAREL ZEREFRSFAN
FAEH/\ ki R S AL X
(BORERBEA) FRAK

S
o
=z
=z
S

2.

F—%F UFERIARLeBERAFERKRFAL

F_F smEdtrerTEER

F-F BEX “TWHR” xR BAX PRk L& 3R RAX
FHE R BRR

FLE FEMRENERMR

FAE AFERZ2REFE

FtE REEAMN



F\E AR EERE

BNE BRI EEERE

BT E R R R AR

B+ —F REHSHRELERE

T % RATHEERE

FT=—% BHEELENE

FTWE REXLE5REEESE

BTEZE NHEAKEKERE

F+%F eRLe. BEFH. EELEERE

B+ +tZE RERREERERE

T \FE RRREMA WAL R E

(=) KELEH

1. BB H4: 200 &

2. WAHHA:

(1) (RN ERE) S 40%, EFANEIRAE
BO(1%) , BB & #% (5%) , HEHEZELN 5% , #
LA R AB (11%) , WRATHBFR SO (6%) , 5 #
FRSALI (6% , ERBEFRFALMN (3% , K38 E R 5L
B (3%)

(2) (HEHEZEN) S 60%, EFU+EKXIRML
ATBEHFLREEFREAL L%, AR EEFEEL 3%,
ER “TWE” ZREAR B ETLEAX] (2% , i
HEE (6%) , BEMERFEREARMR (4% , EFPERLLE
BEE (4% , REERME 3% , AFEZHE 3% , &
MFAAEERE (2% , KiFELZMEmIR (4% , KiEH S5HF
FHRERE (4% , RATHEEFRE (3% , BFHEEXERE



(4%) , miFEZL R EESE (3% , A\ H 5 K3 H# & E |
B 3% , BRLhs, mAFH. EE L EERE (3% , WKiF
FIRERELERE (3% , BARRKIBFEMD AR EZERE (3%,

3. BRA . BB (HH70% , FIBTA (& 30%)

4, BE: 100 &

FZHa RlRse (ERMAE M A4

(=) Koy T

1. FRAL:

(1) i i B %5 B oL o A2 AR 40

(2) 8 J5 K KB 2k A&

2. FRIE: PCwmx EE, #Ha 50 4

3. FRAER: 90 44

4, FRFE: THAREYHFREARZENAZT AT &
L 9 e i 1 52 ARk P )

(=) B4R HBARR

EIZER MMELEE
B T 1 o 4 45 3R 5%
M5 TR A iR A SR 25%
P T 1B = X a0 20%
50% (A= ok K %22 &R 10%,
T 5 K 5 R vk A KK Pk A 28%, KK EFAE
12%)




